Text S1: Recursions
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w ′x1 = (1+σ 1)(m1,1b3c3 +m1,2b3c2 +m1,3b2c3 +m1,4b2c2 +m2,1b3c1 +m2,2b3c0 +m2,3b2c1 +
m2,4b2c0 +m3,1b1c3 +m3,2b1c2 +m3,3b0c3 +m3,4b0c2 +m4,1b1c1 +m4,2b1c0 +m4,3b0c1 +m4,4b0c0 )
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[image: image3.emf] QUOTE  












 (A1)

[image: image4.emf]


w ′x2 = (1+σ 2 )(m1,1b3(1− c3)+m1,2b3(1− c2 )+m1,3b2 (1− c3)+m1,4b2 (1− c2 )+
m2,1b3(1− c1)+m2,2b3(1− c0 )+m2,3b2 (1− c1)+m2,4b2 (1− c0 )+
m3,1b1(1− c3)+m3,2b1(1− c2 )+m3,3b0 (1− c3)+m3,4b0 (1− c2 )+
m4,1b1(1− c1)+m4,2b1(1− c0 )+m4,3b0 (1− c1)+m4,4b0 (1− c0 ))
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[image: image6.emf] QUOTE  

 










(A2)


[image: image7.emf]


w ′x3 = m1,1(1− b3)c3 +m1,2 (1− b3)c2 +m1,3(1− b2 )c3 +m1,4 (1− b2 )c2 +
m2,1(1− b3)c1 +m2,2 (1− b3)c0 +m2,3(1− b2 )c1 +m2,4 (1− b2 )c0 +
m3,1(1− b1)c3 +m3,2 (1− b1)c2 +m3,3(1− b0 )c3 +m3,4 (1− b0 )c2 +
m4,1(1− b1)c1 +m4,2 (1− b1)c0 +m4,3(1− b0 )c1 +m4,4 (1− b0 )c0
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[image: image8.emf]


w ′x4 = m1,1(1− b3)(1− c3)+m1,2 (1− b3)(1− c2 )+m1,3(1− b2 )(1− c3)+m1,4 (1− b2 )(1− c2 )+
m2,1(1− b3)c1 +m2,2 (1− b3)c0 +m2,3(1− b2 )c1 +m2,4 (1− b2 )c0 +
m3,1(1− b1)(1− c3)+m3,2 (1− b1)(1− c2 )+m3,3(1− b0 )(1− c3)+m3,4 (1− b0 )(1− c2 )+
m4,1(1− b1)(1− c1)+m4,2 (1− b1)(1− c0 )+m4,3(1− b0 )(1− c1)+m4,4 (1− b0 )(1− c0 )
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_1277803052.unknown

_1277803074.unknown

_1277803000.unknown

_1269434280.unknown

